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Directions (Q. 1 – 50): Find the missing number
from the given responses.

1. 4 9 2
3 5 7
8 1 ?
(a) 9 (b) 6
(c) 15 (d) 14

2. 5 4 9
6 3 ?
7 2 4
65 20 45
(a) 4 (b) 2
(c) 3 (d) 1

3. 9 6 8
5 8 4

EXERCISE

7 4 ?
11 2 7
(a) 4 (b) 7
(c) 3 (d) 6

4. 4 12 11 5
6 7 10 3
8 9 10 7
7 5 ? 4
(a) 12 (b) 14
(c) 13 (d) 8

5. 6 18 15
3 2 5
4 3 ?
8 27 9
(a) 2 (b) 4
(c) 3 (d) 5
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In this chapter, some numbers in questions
are represented with the help of a diagram,,
geometric equation or table based on a particular
logical and mathematical calculation. Numbers
divided into different groups have  a missing
number, which you have to find out from the given
alternatives. In  other words, there is a number
in one or more diagrams that is given in the
question  . A blank space is left in the form of a
question mark (?) at any one place in the given
diagrams. You have to find the number that comes
in place of the question mark (?) from the given
alternatives.

The questions under this can be based on the
following.

1. Addition
2. Subtraction
3. Multiplication
4. Division
5. Square
6. Cube
7. Mix
Therefore, the candidate should remember

these 7 activities as the question is solved by any
one of these 7 activities.
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6. 2 12 ?
50 300 550
10 60 110
124 744 1364
(a) 22 (b) 33
(c) 44 (d) 55

7. 9 3 7
12 2 9
13 5 ?
1404 30 504
(a) 5 (b) 8
(c) 15 (d) 56

8. 7 21 15
49 441 225
98 882 450
140 1302 ?

(a) 6750 (b) 690
(c) 1380 (d) 660

9. 11 6 8
17 12 ?
25 34 19
19 28 11

(a) 13 (b) 15
(c) 16 (d) 9

10. 1 3 7
2 4 4
4 5 9
3 2 3
50 70 ?

(a) 23 (b) 115
(c) 118 (d) 220

11.
25 49 81
5 7 ?

15 13 11
20 20 20

(a) 9 (b) 3
(c) 61 (d) 31

12.

4 9 17
20 5 8
7 23 9
? 9 4

6
9
9

19
(a) 7 (b) 9
(c) 8 (d) 6

13.

7 9 8
2 4 3
5 7 6

16 32 ?
(a) 17 (b) 23
(c) 47 (d) 73

14.
216 16 49

3 4 ?

6 2 7

(a) 42 (b) 56
(c) 2 (d) 5

15.

117 28 145

35 ? 111

211 11 222

(a) 39 (b) 76
(c) 146 (d) 333

16.

3 4 2 14

6 5 4 44

5 2 7 ?

(a) 58 (b) 14
(c) 49 (d) 4

17.

104 ? 57

87 78 9

103 78 25

(a) 35 (b) 47
(c) 54 (d) 78

18.

16 17 28

21 23 27

? 391 756

(a) 377 (b) 351
(c) 336 (d) 306

19.
45 11 1

12 0 1

57 11 ?

(a) 0 (b) 68
(c) 2 (d) 10

20.

12

14 ?

19515

13

13

156

154

(a) 11 (b) 16
(c) 21 (d) 31
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21.
11 12

78

6 9

14 10

?

7 8

(a) 84 (b) 104
(c) 94 (d) 74

22.

2 3

30 5

5 1

–5 –1

4 3

? –1

(a) 7 (b) –12
(c) 12 (d) 9

23.

50 31
9

42 21
7

43 11
?

(a) 6 (b) 5
(c) 8 (d) 9

24.
45

27

30

25 35

20

30

30

60 40

40

?

65

25 35

(a) 36 (b) 33
(c) 45 (d) 60

25.
5

63
6

3

8

2
41

3

7

9

6
?

8

7

5

(a) 82 (b) 83
(c) 86 (d) 26

26.
0

10
2

6

4

2
24

6

10

8

4
?

10

14

12

(a) 36 (b) 48
(c) 38 (d) 30

27.
9

121
92

5

15

16
79

20

19

24

56
?

8

7

9

(a) 98 (b) 80
(c) 89 (d) 18

28.
64

4
8

32

16

80
5

10

40

20

40
?

5

20

10

(a) 0 (b) 10
(c) 2.5 (d) 20

29.
16

1
8

3

4

20
8

4

5

3

18
?

6

5

4

(a) 3 (b) 10
(c) 15 (d) 60

30.
7

40
4

9

5

17
54

6

8

3

10
?

3

21

6

(a) 60 (b) 62
(c) 64 (d) 66

31.

9 6

117

8 2

68

7 3

?

(a) 48 (b) 52
(c) 55 (d) 58

32.
4

32

8

16

6

24

4

12

8

?

9

36

(a) 42 (b) 56
(c) 72 (d) 18

33.
4 3

25

9 11

202

1 7

?

(a) 100 (b) 75
(c) 25 (d) 50

34.
3 2 

35 

1 5 

126 

3 4 

? 

(a) 90 (b) 91
(c) 103 (d) 75

35. 24 30 30 43 43 62

6 13 ?

(a) 12 (b) 21
(c) 19 (d) 9

36. 18 15 17 19 15 14

549 650 ?

(a) 210 (b) 225
(c) 196 (d) 421
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37.
13 19 71 9 128 32

4 10 ?
(a) 10 (b) 15
(c) 20 (d) 25

38.
9

?

17

10 15

7 2

(a) 8 (b) 5
(c) 4 (d) 3

39.
2

3 1

? 4
6

12

(a) 8 (b) 1
(c) 12 (d) 6

40.
7

? 15

127 31
63

(a) 190 (b) 255
(c) 221 (d) 536

41.

20 14

8 6

3 4
? 10

(a) 19 (b) 18
(c) 24 (d) 12

42.

?

120

6

210
60

24

(a) 330 (b) 336
(c) 428 (d) 420

43.

?

4

1

8

2

2

(a) 32 (b) 6
(c) 12 (d) 20

44.
4 9

12 12

63 ?

0 263 6

108

(a) 12 (b) 7

(c) 16 (d) 14

45.

30

4

2

1 3 54

5

3

2 4 ?

6

4

3 5

(a) 68 (b) 65

(c) 86 (d) 52
46. What is the number missing from the third target?

5

16

49

9

29

89

15

?

147

(a) 45 (b) 48

(c) 51 (d) 54
47.

4
9

6 6
24
3

9 8
15
6

9 ?

(a) 8 (b) 7

(c) 10 (d) 12

48.

2 3

3

4 10

5

6 ?

7

(a) 21 (b) 32

(c) 22 (d) 24

49.

10

4

?

5

6

7

3

10

99 8 6

(a) 11 (b) 10

(c) 15 (d) 20

50.

12 7 ?

5

45 6

4

6 21 8

10

(a) 32 (b) 22
(c) 320 (d) 14
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